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King Abdulaziz University
Faculty of Sciences
Physics Department

First Term
1433-1434 H

5 Date: 30 /11/ 1433H
First Exam - Phys 110

Name: ID No: Section:

CHOOSE THE CORRECT ANSWER

1. Vectors C and D have magnitude of 5 units and 3.6 units, respectively (5= =),
What is the angle between C and D if Cx D equals to+6 units =y

& ¢ D YA
a) -18° b) 110° c) 95° [d)|+19° CERR (

2. In the figure, the signs of the x and y components of the vector

Y:)\n=+,ﬁ.=— b) r=—r,=+ ¢ r=—r,=— d) r,=+7r7 =+

_ xJ
3. A vector N has 2 length 0.1 m making an angle of 30° with |positive y axis ,the x and

components are: )/ Ncosa Ny= NS a
= o\ Cos€a=0-5Mm =0 \5Mee" 2063 6m.
(a)l Ne= 0.05m, Ny=0.086 m Q) Ne=50m, Ny=86m
B) Ne= 58m, Ny=86m d) Ne= 0.5m, Ny=0.86m

4. The magnitude of the unit vector

a) lessthan 1 ‘bilequals 1 c) greaterthan1 d) equals zero

5. Which of the following is not used as a unit of time,

a) hour (h) b) day (d) E)Jmeter (m) d) seconds (s)
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6. A circle with radius r of 5 cm has an area of ( area = 7 r*) square meter given by:

2
avea- MMy = (T (5x15%)
a) 251047 (m?) Q) 25410° 7 (m?) ~F(25 11"
«1072 2 -5 2 - 2
b) 2.5x10% 7z (m?) d) 2.5x10° 7 (m?) '_7__5-)“63 o w:'
7. 9.35x10°2s = e
Pszle 5

a) 9355 b) 935ns ©) 9.35ms (d))9.35ps

8. The position of a particle moving along the x-axis is given by: x(t) = 8+5t+2 t3 . Its
acceleration function is: vit)z o+ 5488Y

»
alt)zexox 12

a) 5+12t b) 6t ()12t d) 5+6¢8 i
‘g

VA e t
9. A particie had a speed of 12 m/s in direction and after 2.4 s its speed was 28

m/s in the{negative x direction. lts average acceleration during this time is:
—_—
= St

_ 28-12 ey SRt
D EmTd )z, - == =4
5 12228 12+28
D) G4 . 9 gl
10. The base quantities are:
a)_ (Speed, Mass, Time) c) (Length, Speed, Time)
[b) | (Length, Mass, Time) d) (Length, Mass, Speed)

Use the following to answer questions 11-12:

A car travelled 60 km in 1.33 h along a straight line, then returned back for 40 km in 0.67 h.

. S — Ss+4o _ \60 -~
11. Its average speed is: 9 -m = = S5 olwm /N

a) 120km/h [B)|50km/h € zero d) 30km/h
12. Its average velocity is: \:);\v B et SN G PR 2N

gty (067 (133) -0
22 _lokm/In

z

a) 30km/h b) 120km/h <) zero (d) )10 km/h
13. If G=14i-30] and b =—66{ +38], then b-a=
a) 152i =38 b) 70 +63] © 520 +8] [d) |80 +68]
oo = (~64-1u)C «(3 ?130)(5\
—_8olx§ SJ
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14. From the figure, the Car's speed

ay

ALK
—_ Velocity
pi—
Accelerathon

@decreass b) constant c) zero d) increases

15. The position of a particle on the x axis is given by x(t)= 16 t =12 t3, at what time the

velocity v = 0? vib= \6-36t"
o= \g - ;‘éi 2 1
a) 0.17s b) 6.7s \c)|0.67s d) 1.67s V& = 23g E¥=E = ¢ b= ry
4

- 5 A ~ - L
16. If A=21 —l+ 3k, then —3A equals = 0667

-3A=-6i425-94 K
—61 +3] -9k ¢ -3i-3j-9k
b) 2i-3j-9k d) +6i+)-12k

17. The position of a particle moving on an x axis is given by: X(t) = 2t 2+ 4, its average
velocity in the time interval from t=1sto t=2sis: X ()= 201 x & =8w X2)=22)+y = V22 "M~
&=

v o= 12— &
a) 12m/s b) 9m/s c) 3m/s Sd)SGm/s b= o ® swm /S
18. The components of G are: a, = 25m, and a = 11m’, the magnitude of a is:

o=\ afxhgz J (z5)x@)* - 27.3wm

Xa)} 273m b) 625m ¢) 325m d) 121m
19. The conversion factor is:

a) Greater than one

b) A small number of physical quantities

) A ratio (A1) of units that is equal to unity
d) A base quantity

Vi o
20. A car travels with a velocity of 11 m/s ,if this gar was going under acceleration of - 5 m/s? .
What is the distance travéled until it stop$? = VIR e

6 =0 =06 (g -%0)

a) 212m b) 21m «¢) 11.2de)§12.1m Amda= V2L = 12. A\
°

21. The difference between speed and velocity that velocity includes

a) distance b) time ¢) mass direction
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22, If vector E=A}f+2}f31€ is perg,endicular to vector E=3§—6f+41€, the value of A,
will be: ﬁ_LB:G A.B=o0 AL 2h
4 34, 4 @26) A (-3)(n) =0 =A< TH=AR L -8

a) 5 b) 6] © 48

23. The position of 2 particle is given by: x(t)= 6 +5t+ 8 t* the instantaneous acceleration
att=1sis: vibzo+5x 16t =5 Alk) = 16m /ST
a) 37 mfs? @ 16 m/s? ¢} 8m/s? d) 31 m/s?

24. A car is driven_east for a distance of 50 km , then _north for 30 km , and then in 2 direction
30° east of north for 25 km . The vector diagram that represents geometrically the
motion 15

NS A B, @_.T/ o v

Use the following to answer questions 25-26:

The position of a body moving along the x axis is given by x = 5t—2 2+,

1 7 _ -1
25. The position att = 2 s is: x (1) = 5@ )-2C2)A (1) = lo-&+8 o

a) 36m b) 18m <) 8m |d)|10m
2
26. The displacement of the object in the time interval t = 0 tot = 5 s is: xlel=o _2l5) s (5)3
Al5)z BN L s
- 25 -
(2 Ax=100m b) Ax=50m < Ax=125m d) Ax=25m

27. (D.OWBS) isequal to: I 3% )50

\eo
\eo o

Wl

=g S

a) 535x10*°  b) 5.35x 1077 @ 535% 10 d) 5.35x 10
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28. In which situation of the following the displacement with the largest magnitude?

Situation Xa(m) Xz(m) px = Aa—*y i
” 2 10 ge-t-4)= “‘}\ —_>> .
M 2 e el ® |
N -10 T Loat-ltiey=*" =
P 12 5 ;—5-\"—’—"? :>’l’~7‘-

a) N b)L@P d) M

Use the following to answer questions 29-30:
An object dropped from a building 80m high, V,=¢°, DD:. o =\ 3 ==Bowr _— %
<t z - \ e 2 Y e

29. The velocity of the object before reaching the ground is vV = Vo - 3 ( (‘) 3 =4 \5498 wm/ S

a) +78.4m/s b) +39.6m/s c) -19.6 m/s | d)|-39.6 m/s V=% 39- . 7o~

: e A

30. Its speed after 3sis: \/ = V,—3t= fa.g)(3)

Spe 2y e, Lawroosa =2-29.4mys
a) 39.8m/s b) 19.6m/s (0 R9.4m/s d) 9.8m/s

31. The direction of vector A =(-25m)i +(55m)] is: ()
G=Tad (Z5. ). — 655566
a) -113° b) 29° ¢) 151° @—66" =25

32. When an object is thrown vertically upward T, During the descent (‘hJ-‘A) from the
highest point :

its velocity and acceleration are both downward 1

b) its velocity and acceleration are both upward T

c) its velocity is downward 4 and its acceleration is upward T

d) its velocity is upward T and its acceleration is downward 4

Vv, =0 X A
33. A car, initially at rest, travels 20 m in 4s along a straight line with constant acceleration.
The acceleration of the car is: - L t T
X~ )(‘> = Voro A

a) L3m/s? 2.5 M Q) 49 &) 04mE 2- 1 (ay (ug®
2
a=@)(2) _ 2.5 » /s
€

2
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King Abdulaziz University
Faculty of Sciences
Physics Department

First Term
1433-1434 H

Date: 30 /11/ 1433H

First Exam - Phys 110

Name: ID No: Section:

CHOOSE THE CORRECT ANSWER

—

1. Vectors C and D have magnitude of 5 units and 3.6 units, respectively ('3 =),
What is the angle between C and D if CX D equals to -6 units

a) -18° b) 110° c¢) 95° d) -19°

2. In the figure, the signs of the x and y components of the vector ¥ =a +b are:

a) ro=+,1,=— b) r.=—r =+ c) r=—r=— d) ro=+4,r,=+

y

3. A vector N has a length 0.1 m making an angle of 30° with positive y axis ,the x and y
components are:

a) Nx=0.05m, Ny=0.086 m c) Nx=50m, Ny=86 m
b) Nx=58m, Ny=86m d) Nx=0.5m, Ny=0.86m

4. The magnitude of the unit vector

a) lessthan1 b) equals1l c) greaterthan1l d) equals zero

5. Which of the following is not used as a unit of time,

a) hour (h) b) day(d) c¢) meter (m) d) seconds (s)
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6. A circle with radius r of 5 cm has an area of (area = x r*) square meter given by:

a) 2.5x10% 7 (m?)
b) 2.5x102 7 (m?)

c) 2.5x<10% 7 (m?)
d) 2.5x10° 77 (m2)

7. 9.35x1012s =
a) 935 b) 9.35ns ¢) 9.35ms d) 9.35ps
8. The position of a particle moving along the x-axis is given by: x(t) = 8+5t+2 t3 . Its
acceleration function is:
a) 5+12t b) 6t2 ¢) 12t d) 5+6¢t
9. A particle had a speed of 12 m/s in the positive x direction and after 2.4 s its speed was 28
m/s in the negative x direction. Its average acceleration during this time is:
- 28—12 _ —28—12
a) aavg = c) aavg ST A4
2.4 2.4
~ 12-28 _ 12+ 28
b) a,-= d a, =
2.4 ¢ 2.4

10. The base quantities are:

a) (Speed, Mass, Time)
b) (Length, Mass, Time)

Use the following to answer questions 11-12:

c) (Length, Speed, Time)
d) (Length, Mass, Speed)

A car travelled 60 km in 1.33 h along a straight line, then returned back for 40 km in 0.67 h.

11. Its average speed is:

a) 120 km/h b)) 50 km/h ¢) zero d) 30 km/h

12. Its average velocity is:

a) 30km/h b)) 120 km/h c) zero d) 10 km/h

13. If G=14{ -30j and b =—66i +38], then b —a =

a) 152 —387 b) —70i +63]

c) 521 +8] d) —80{ +68;
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14.

15.

16.

17.

18.

19.

20.

21.

From the figure, the Car's speed

L |

Velocity

Acceleration
a) decreases b) constant c¢) zero d) increases

The position of a particle on the x axis is given by x(t)= 16 t —12 t3, at what time the
velocity v = 0?

a) 0.17s b) 6.7s «¢) 0.67s d) 1.67s

If A= Zf—j+3l€, then —3A equals

a) —6i+3]-9% ) -31-37-9k
b) 2i-3j-9% d) +6i+]—12k

The position of a particle moving on an x axis is given by: X(t) = 2 t 2 + 4, its average
velocity in the time interval from t=1s to t=2s is:

a) 12m/s b) 9m/s ¢) 3m/s d) 6m/s

The components of a are: a_ = 25m, and a,=1im, the magnitude of g is:

a) 27.3m b) 625m ¢) 325m d) 121 m
The conversion factor is:

a) Greater than one
b) A small number of physical quantities

©) A ratio (*=d!) of units that is equal to unity
d) A base quantity

A car travels with a velocity of 11 m/s ,if this car was going under acceleration of - 5 m/s? .
What is the distance traveled until it stops

a) 21.2m b) 21m ¢) 11.2m d) 12.1m

The difference between speed and velocity that velocity includes

a) distance b) time <¢) mass d) direction
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22. If vector A = A}f + 2} —3k is perpendicular to vector B=3i — 6} + 412, the value of A
will be:

a) -5 b)6] c)4 d) 8

23. The position of a particle is given by: x(t)= 6 +5t+ 8 t? ,the instantaneous acceleration
att=1sis:

a) 37m/s> b) 16 m/s? c) 8m/s? d) 31 m/s?

24. A car is driven east for a distance of 50 km , then north for 30 km , and then in a direction
30° east of north for 25 km . The vector diagram that represents geometrically the
motion is

a)L b)l—b/ c)4j/v d)gl/

Use the following to answer questions 25-26:
The position of a body moving along the x axis is givenby x = 5t—2t2 + t3.
25. The positionatt = 2 s is:
a) 36m b) 18m ¢) 8m d) 10m
26. The displacement of the object in the time intervalt =0tot =5 s is:
a) Ax=100m b) Ax=50m ¢) Ax=125m d) Ax=25m
27. (0.000 000 000 535) is equal to:

a) 535x10*° b) 535x10*7 ¢) 5.35x10% d) 535x10%
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28.

In which situation of the following the displacement with the largest magnitude?

Situation Xi(m) X2(m)
L -4 10
M -2 -12
N -10 -9
P 12 -5

a)N b)L c)P d) M

Use the following to answer questions 29-30:

An object dropped from a building 80m high,

29.

30.

31.

32.

33.

The velocity of the object before reaching the ground is

a) +784m/s b) +39.6m/s ¢) -19.6 m/s d) -39.6 m/s
Its speed after 3s is:

a) 39.8m/s b) 19.6m/s c¢) 29.4m/s d) 9.8 m/s

The direction of vector A =(—25m)i +(55m)] is:

a) -113° b) 29° c¢) 151° d) -66°

When an object is thrown vertically upward T, During the descent ('bﬁ'h) from the
highest point :

a) its velocity and acceleration are both downward {

b) its velocity and acceleration are both upward T

c) its velocity is downward { and its acceleration is upward T
d) its velocity is upward T and its acceleration is downward |

A car, initially at rest, travels 20 m in 4 s along a straight line with constant acceleration.
The acceleration of the car is:

a) 1.3m/s?> b) 25m/s> c) 49m/s? d) 0.4 m/s?

Sample A Page 5



Answer Key
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CHOOSE THE CORRECT ANSWER:

1. Change in position is called:

w

a) displacement b) equations c) acceleration d) speed

. A nanosecond is:

Q) 10%s b)107° s c)10'%s d) 10'%s
. Agramis:
a) 10 ° kg b) 10° kg c) 1 kg d) 10° kg

km/ h? is a unit of;
a) \elocity b) speed c) acceleration d) distance

A square with an edge of exactly 1 cm has an area of:
)10 ° m? b) 10™* m? c) 10° m? d) 10* m?

A car starting from rest has a constant acceleration of 4 m/s®. How fast is it traveling
after 5 seconds?
a) 100 m/s b)50 m/s c) 20 m/s d)10 m/s

The average speed of a moving object during a given interval of time is always:
a) The magnitude of its average velocity over the interval
b) the distance covered during the time interval divided by the time interval
c) one-half its speed at the end of the interval
d) its acceleration multiplied by the time interval

An object moves with a constant velocity of 9.8 m/s, its acceleration in m/s? is;

a) 9.8 b) 98 c)0 d)-9.8
In which of the following statements the acceleration is constant?

Q) v=-4t+3t

b) v=2t+3

c) v=6+2t—4t

d) v=5t*
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10. A particle mowves along the x axis from x; to x,. Of the following values of the x; and
X5, Which results in the displacement with the largest magnitude?

X1 X5
a) 4m 6m
b) -4m -8m
C) -4m 2m
d) -4m 4m

11. The position of an object is given as a function of time by x = 4t — 3t>, where x is in m
and t is inseconds. Its average velocity over the interval fromt=0tot=2ss:
a) 0 b) —2ml/s c) 2m/s d) —4m/s

12.How long will it take for a falling object to reach velocity of — 108 m/s if its initial
velocity is =10 m/s
a) 98s b) 118 s c) 0.093s d)10 s

13.Each of four particles move along an x axis. Their coordinates (in meters) as functions
of time (in seconds) are given by;
particle 1: x(t) = 3.5 — 2.7¢°
particle 2: x(t) = 3.5 +2.7¢°
particle 3: x(t) = 3.5 +2.7t°
particle 4: x(t) = 3.5 — 3.4t — 2.7t
Which of these particles have constant acceleration?
a) All four b) Only 1 and 2 c) Only 2 and 3 d) Only 3 and 4

14. Acar, initially at rest, travels 20 m in 4 s along a straight line with constant
acceleration. The acceleration of the car is:
a) 0.4m/s’ b) 1.3m/s? c) 2.5m/s? d) 4.9m/s?

15.You are throwing a ball straight up in the air. At the highest point, the ball’s
a) Velocity and acceleration are zero.
b) Velocity is nonzero but its acceleration is zero
c) Acceleration is nonzero, but its velocity is zero
d) Velocity and acceleration are both nonzero

16. The Associative law is given as;
a) (@+B)+é=d+(b+0)
b) (@+B)+é=(@+b)+¢
c) d+b=b+d
d (6-b)=d-

—

(B)
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17. If A= (6m)i — (8 m)j then A has magnitude:
a) 10m b) 20 m c)30m c)40m

18. The angle between 4 = (25 m) i + (45 m) j and the positive x axis is:
a) 29° b) 61° c) 151° d) 209°

19, The scalar products of P = 2i —5] 44 Q =—3i +4]
a) P-Q=-2 b)P-Q =-26 C) P-Q =14 d)P-Q =20

20. If a=10 units, b= 20 units and p=60° ,C=a x b
a) c =200 b)c=173.2 C) C = zero d) c=1004

21. If R-§=10.Then;
a) Rand S are perpendicular
b) R and S are in the same direction
c) Rand S are in the opposite direction
d) The angle between R and S is 60°

22. If the components of a,=6m a,=5m the directionof & is:
a) 56.4° b) 90° c) 180° d) 39.8°

23. The position of a particle is given by x = 2t>- t*, its velocity will be zero at time:
a) t=4/3s b) 2/3 s c)1/3s d)3/2s

24. The vector — 4 is:
a) greater than A in magnitude c) less than 4 in magnitude
b) inthe same direction as A d) in the direction opposite to A

25. Let A =(2m) i+(6 m)j—(3m) k and B = (4m) { +(2 m) j+(1m) k. The vector sum
§=A+Fis
a) (6m)i+(@Bm)j-(2m)k
b) (-2m)i+(4m)j—(4m)k
) @m)i-(4m)j+@m)k
d Bm)i+(12m)j—@3m)k

26. LetA=(2m)i+(6m)j—(3m) kand E=(4m)i+(2m)j+ (1 m)k. Then4-B

a)(@8m)i+(12m)j-@mk b) 23 m?
c)(12m)i—(14m)j—(20m) k d) 17 m
27. Quantity that is defined as the rate of change of displacement:
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28.

29.

30.

31.

32.

33.

a) velocity b) acceleration c) distance d) speed

An object moving in the positive direction of the x-axis with arelation
X(t) = 6 + t + 3t°. The instantaneous \elocity after 4 s is:
a) 25 m/s b) 20 m/s c) 15 m/s d) 10 m/s

Two birds are flying directly towards each other at the same speed. If the first bird is
flying at a velocity v, the velocity of the second bird
EVRY b) -v c) 2v d) v/2

A

If a person walking from point A to B to C as shownin
the figure. The magnitude of the displacement is

a) 3m b) 4m c) 5m d) 6m

C(6,5)

A(2,2)

>8(5,2)

The value of - (j x E) IS:
a) zero b) +1 c) -1 d) 3

The vector product of @ and vector b produces a third vector ¢ whose direction is:
a) Perpendicular to the plane that contain @ and b.

b) Parallel to the two vectors d and b,
¢) In the opposite direction of 4.

d) In the opposite direction of b.

If the initial velocity is 4 m/s and the final velocity is 10 m/s in 3 s. What is the
average acceleration?
a) 6 m/s’ b) 12 m/s? c) 3 m/s? d) 2 m/s?
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KING ABDULAZIZ UNIVERSITY
FACULTY OF SCIENCE

Physics department

1% Semester

First Exam

&

Physics 110 27/11/1432H Time: 2Hours

Name: Number: Section:

Choose the correct answer:

SR Jih X‘uj}
1. (5X104)X(5X106)= 2D A 10 —

A) 2.5x10" 25x10"  C€) 25x10° D) 2.5x10°

2.3days= 3 X2y XboX6o = 2H )7
A) 30240s B) 1814400s (C))2592005 D) 2419200 s

3. 7.87 g/em® = 13F/ E"f}ig

A))7870 kg/m?  B) 0.00787 kg/m® C) 7.87x10° kg/m* D) 7.87x10 kg/m’

6
" Ko
) is used to convert .......0..t0 mm

4. The conversion factor ( L
A)im B) 1mm (C)J)ikm D) 1mi

5. 500kg= oo o = 9 \’ 9

A) 5x10°g B) 5x10°g \@smosg D) 5x10%g

6. 2.71 gig_awa‘cts =
-.z‘{ag\) 71x10°Watts  B) 2.71x10°Watts C) 271x10°Watts D) 271x10°Watts
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X, =0
-

Xy 7GRy _wx A+ 16X4) = \ 2
T=4 s
< 1 > B — '\1 ‘VAY
7. The position of a body moving along the x—axis is given by x= 3t-4t +t where x in meters
and ¢ in seconds. Its displacment in the time interval t=0to 7=4ss

A) Ax=140m (B)) Ax=12m C) Ax=52m D) Ar=40m

8. The position of an object is given by x= - 2t where x in meters and ¢ in seconds. At ¢ =10
s, itis A&V0 - mu*-\w wA

/

A) J-190 B) -100 C) -10m D) -90m
(W)150m B) -100m ) )

9. A car travelled 50 km in 0.75 h, then travelled 100 km in 1.2 h. The average speed is

B s }(‘ _ Bex 'l

4 i)/77 km/h  B) 333km/h  C) 111 km/h D) 26 km/h ‘ \ e By 0.3 5 Wt

10. A car changed position from x=25 m to x=150 m in the t|me interval from 3sto8s, the
average velocity of the car is » W o XOF =22 AW 98 wis

Ll ) 22—

f\f_@f’\% m/s B) 1l4m/s C) 35m/s D) 16mjs >

11. The vectors a, b and ¢ are related by a= b+c Which diagram below illustrates this
relationship? r B

12. A particle is moving along x —axis according to the equation x=127—2¢*, where x in meters
and ¢ in seconds. Its velocity and acceleration at =3 s, respectively («'5 ), are

ALV E B~
~J i L

N7 | @ 1.

L 1@U=0 , a= -4 m/s? C) v=24m/s, a=8m/s2 [~ 5 yy3=0
B) v=18m/s, a=0 D) v=-24m/s, a=4m/y\ .

13. The position of a particale is given by x(¢) = 20r—5¢°, where x in meters and ¢ in seconds, its

velocity is zero at #= V=g -\5t"
@ 12s B) 0.87s C) L4s D) 0.7s o5l 25
5 = W AN
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14. A particle has a constant acceleration (-1.25X10%* m/s?) enters a region W|th a speedvof 5><106
m/s. How far does the particle take to stop .

'0.1m B) -0.lm C€) 1m D) -Im A=Ky =

15. An electron has a constant acceleration +3.2 m/s2 at a certain instant, its velocnty is +9.6 m/s
What is the velocity at 7=2.5s V= V. rat =86 A-%.2 &5

@ 17.¢ ”‘./5
A)17.6m/s B) 8m/s C) 27.2 m/s D) 0.8 m/s

16. The velocity of a stone falling from a height of 100 m just before hitting the ground Ts’

2
T el
A) -1960 m/s B) -980m/s C) -31.3 m/s @-44.3 m/s v/ = 2&? ;}
— 7— ) (@ “S —

) PPV PR ‘ : B

17. A ball dropped from a building, its velocity and position after 3sare N =-"44.% /S
@ v=-29m/s, y=-44m : C) v=0, y=0 ,J\ ZI%}
\D ’ I

B) v=-44m/s, y=-29m D) v=0, y=-44m % ( s - A

19. If RXS = E, then the direction of C is

perpendicular to both Rand S C) perpendicular to S
B) perpendicular to R ' D) in the same direction of R and 5

20. The magnitudes of displacment aand b are 8 m and 15 m, respectlvely (u-’&*-‘ «). The
maximum p055|ble magnitude for c according to the equation c=a +b is

P - i - _ ) WA

A)7m 23m C) 15m D) 8m C = S92 =8
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21-- A displacment vector 7 in xy plane is 15 m long and directed at angle 8=30°

3, Yy
as in the figure, the x —component and y —component of the vector 7 is r
; 5 x
IX' = l{; o5
- f/ -~ 1 [

@ r,=13m, r,=7.5m C) r,=09m,r,=05m

B) r.,=75m,r,=13m D) r,=0.5m,7,=05m

A b = (631 %(f{x—‘_ii 'y
22. For the vectors a= 6 §+ 5j and b=-3 i - j.The magnitude of |21+l;l is Sk R
34U

A) 7.8 m m C) 22m D) 10.8m gt &

23. The x—component of A is 81 m and the y —component of A is 200 m, then the angle ¢

between the direction of A and the positive direction of x is g =8 —

Y
- o AN Lo
N

7= 200 -200 81 81
A))tan (=) B) tan’(——) C) tan(—) D) tan”(=—
\ an(81) ) an(81) ) an(zoo) ) an(zoo)

24. The speed of a particle moves with an instantaneous velocity v=-25m/sis: | 2% v /s

A) S=5m/s B) S=-25m/s @\S =25m/s D) S=-5m/s ‘ oL |/

25. In the figure, what are the signs of x and y—components of the sum 2: 4 47; , respectively

A) (+) B) (+,4) (@), +) D) (-,

26. Ifa=3i+3j2k andb=-1i-4j+2 k, then3a-b=

(a)-57 B)-19 € 12 D) -21 o
23 3 () 2k (i) =3 [-3-12-4]
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27. Vectors C and D have magnitude of 5 units and 3.6 units, respectively (v ). What is
the angle between the direction of C and D if C-D equals to -6 units

D o J p
(2N C-D= & * PR L A
,’A 109.5° B) -19.4° C) -18.4° D) 9%° N L a5 3.6/ V,ﬁ?,- e ‘,%

28. If K; 18 unit, B =12 unit and @ =900, If C= Kxﬁ, then the magnitude of a vector C is

7D
CA)2 216 B) 0 C) 187.1 D) 108 =2 G Swme
v., ; e &= A N D g DSRS0
% & da ) L
29. The value of i-(kXi)= —— = &
L/,c’,)f XD =(-) =

@Zero B)y1 C) ii D) i-k

30. The right-hand rule (=% & 358) j5 ysed to find

A) The cross product of two vectors

;* The direction-of third vector produced from cross product
C) The magnitude of third vector produced from cross product
D) The angle between the vectors in the cross product

31. A particle moves in the positive x —direction with increasing speed

A) its velocity is +ve and acceleration is -ve
B) its velocity is -ve and acceleration is +ve X
7Y X .
¢€Y its velocity and acceleration are both +ve .~
D) its velocity is +ve and acceleration is zero <

32. In which situation of the following the velocity is in negative x —direction
S \f = "f't V= fl é: \/—;' +f ‘t‘: \j/ :"ﬁ’g
//A’)9x=-z £2 B) x=3£-5 €) x=-21°+1 D) x=-5+51

33. Let C=AXB and @ is the angle between A and E, which of the following is true?

.lv

oo

A) The angle between Cand A =0° =—BXA

B) The magnitude of C = ABcosg

o 0N
N
Qiix
I
S
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King Abdulaziz University
Faculty of Sciences
Physics Department

Second Term
1432-1433 H

Date: 13/ 4/ 1433H
First Exam - Phys 110 ale

Section:

‘Name:

CHOOSE THE CORRECT ANSWER
: -3 Kwsx 5 o= )]
1. Convert 5.86 x 108 cm to km [5 FexXls C’”‘]( L\':;: ) _5—5‘4{2( .
= 58% Km
a) 5.86km b) 586 km c¢) 0.586 km [d))58.6 km
2. How many seconds are in 36 days (3¢ clay ’5)(2 uh )(gcm:n) (6o s) = 3oy L//é-;

@ 31.104 x 105 s ¢) 31.104 x104s
b) 31.104x 106 s d) 31.104x102s

3. lfd=ai+a j+ak,the quantities (a,.a,.a,) are called:

a) vector sum ¢) vector components
@ scaiar components d) unit vectors

4. Electric power of magnitude 2.17 x 10° watts equals:

a) 2.17 kilowatts ¢) 2.17nanowatts
b) 2.17 megawaits @ 2.17 gigawatts

5. The conversion factor used to convert a volume of 64 cm?to S! units is
- F= Awd

10%cm 10%cm? lm im’ '3 3
a b c d) | Voo Cwm
) Im ) 1m? ) 10%cm C)J1060m3 North
6. A car moved a distance of 215 km ,in a direction making an angle of 22%east of 22° b
north . How far east and north has the car moved? e B - =
@'_C‘G_Z’L,.SS —ym\b Cos:

a) 199 km east, and 81km north [c-_)l 81 km east, and 199 km north
b) 91 km east, and 188 km north d) 188 km east, and 91 km north

A, Least)=z 25 cosgg®) GoSun 1 Rw
dy (novth)z 215 5w (68°)=\99.3% 194 K
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Use the following to answer questions 7-8:

Two vectors, C,and D , have magnitudes ]5 | =16m ,and ‘ﬁ’ =78m

7. If the vectors are anti-parallel ( =+ s* 2=5==; 2=5+) | Their vector sum
hasamagnitude= \ Suwm | = 2 -1 =82 wL

a) 0[B)\62m o) 80m d) 94m
8. If the vectors are perpendicular, their vector sum has a magnitude = ™ | eta? & >
a) 62m b) 9%4m o 0 (@|80m = A48 gowm

9. If A=3i -3 , B=i-2j,and C =5{-12] then A —2B +C = - N
= 130-35)-2 (C -2 )x (512 )
@G -11] b) 87177 o i+] @ 9 +17/= (3.2 Ca5l)x (=35+uf- 12 3)
2 g W3
10. In the diagram, the magnitude of |ff ’=12m , the magnitude of |§ i:IOm and the

magnitude of ‘6 ‘ =6m . The x component of A +5 +C =

(A B xC) 1 xlocosds-
sy B = 1w

a) 23m \b)\llm ¢) 17m d) 28 m

3
11. The density of siiver is 10.49 g/cm? , its density in kg/m?3 equals: — lorqq X I ka

m>
a) 10.49 x 103 kg/m3 ¢) 10.49 x 106 kg/m3
@ 10.49 x 108 kg/m3 d) 10.49 x 108 kg/m3

A ~ a5 ~ ~ — 2}
12. If d=4i-3j and b=6i -8; then the magnitude of b —a = (& £ 8&)—‘('1 L# 33)

a) 125 b) 14.87 ¢) 18.9 @))5.4
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13. Here are three vectors in meters d, =3 -3j J‘.dzzz ~j ,and d,=2 —4j .
4 ~
What is the resuit of d, -(d, +d, ) cl1+_<:_l_; = L i Y 28~ 4y )z 3¢ 53
v (daxda=L30- sd).(Su-‘:qu_ug‘
a)34m@i§24m ¢)14m d) 4m Z24quq

14. 1f|A'|=
C=AxBis = (qy)(18) Stu3f = 35, Lnits

= 16 units, and the angle $=30°, then the vector product

@) |€ ‘:352 units, perpendicularto A and B
Befpenaictial

b) ‘C‘ ‘=532 units, perpendicular to A and B

) l5‘=352units, paralielto A and B

d) |€‘=532units, parallel to A and B I § R

N ~

J K [(6-0)C = (8-0) ) o2k

. O “ ~ S

o 2 |=6L -6y -LKk

6 —2j —6k

~

(&

15. fG=2{+2f and b =i +3k thenaxb= |2
\

a)\6i —6j—2k b) 2i—j-6k ¢ 2i-6j-2k d)

~
7 ~ A
16. If G =357 +21] —14¢ , then 2X = "(35"”?"0‘“" R)zletxéy -4k
7

a) 6 +6/-10F b) 57+37-2€ ¢ 10043748 (| 107 +6] -4k

17. For the following two vectors: A = 2;+3; , B=-3+2j.Find A- 21§

B3=(20 *30) w gl ]
a) 6 b) 12 [Qyzero d) 5 /(ZL-&_?,‘))(&LA-HJ)""Z““?"‘O

18. A particle enters a region with a speed of 4 x 10° m/s and then sl wed at
the rate of_‘i._S:ﬁ__Of_m_/sz The distance the partlcle takes to stop | i

Ve Yy arala- )
a) 015m b)2m ¢ 02m (AN533M 6=y x1d) _ 2 (1.5 x 147) ({~¥e)=5:33m

19. An apple fell from a 19.6 m tree, how long did it take to reach the ground

——

level? V, =~ o < Y=Y, 2 bt —L atz' e
) 49s b 4s o98s(al2s ' VE 1»"’3“‘ = 48

20. An object is thrown straight up from ground level and reached its highest

J=o¢ pointafter 3.4 s . lts initial velocity is: V=T, V2V~ 9 =

T O Vo-@g)(34)=z> Vo= 33-32m/g
a) 35.3m/s b) 30.32 m/s ¢) 33.32m/s d) 43.31m/s
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21. A change from an initial position to a final position is called:

a) speed @isplacement c) acceleration d) velocity

WV, V3 t_v
22. A car can go from zero to 32 m/s in 16 n 16 s. The average acceleration of the
carisi g eligeh, 3ol - 5, /.S

-Ct T \g~-0
2 m/s? b) 3m/s? ¢) 4m/s?2 d) 7 m/s?

23. The speed of a particle moving with instantaneous velocity of - 15 m/s is:
S=\vi=\-151=\5wm /g
@15 mis b) 10m/is ¢ 5m/s d) 12 mis
Use the following to answer questions 24-25:
A particle moves fromyi=-5mtoy:=-2m
24. The magnitude of the displacement is:  />) = & _~ ‘3\ = —1-(-5)= 3
a3m BHBBm o -7m & 7m
25. The direction of the displacement is:

@up b) down «¢) right d) left

26. A particle's position on x-axis is: x (z)=37i+9 with x in meters and t in
1

IZ
seconds. Its position att=3sis  x (3)- ——5__4—‘(51: Lridia
2 A
= 7-35\\«&

a) 1034m (b)\7.89m ¢ 6.87m d) 9.37m

27. Aman drives a truck from a gasoline station a long a straight road for 11.2.
kmin 0.23 h , then he returns back to the station in 45 min , his average
speed and average velocity , respectively, are : 5 . tobal distang - 2Y11:2 K"
3" Fotad Eime LQ-LL)*(H.’J')
a) Sawg =0, Vayg = 22.86 km/h c) Savg =0 , Vavg = 12.7 km/h = 1l-% 6 }\/\
(b)) Savg = 22.86 km/h , Vayg = 0 d) sag=127km/h ,vag=0 |,
owra

28. A particle's position on x-axis is: x (r)=13- 241 +2¢* with x in meters and t in

seconds. Its accelerationatt=5sis: V(t). 6 — 244 &5 w /g
ale) =1t S als) 1245 = 6omls
(a) 60m/s? b) 12m/s? ¢) 36 m/s? d) 52 mfs?
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29. In the following sentences, which one is wrong?
" the free fall acceleration ....... S

a) is the same for all objects.

b) has a magnitude of 9.8 m/ss.

¢) is the same during ascent and descent.
@ is equal to zero at the highest point.

30. From the figure, the angle that vector @ makes with the +x axis

5 7 — § .
as \/»-L/\,.s oS (counteﬁclockwuse) is: s \i’co* 30 :'Lloo

.

¥ ¥

Pl
&m x

«a

a) 300 _@ 2100 ¢) 1500 d) 1200
Use the following to answer questions 31-32:
Two vectors: A =3i +2j and C =5i
31. The angle between vector A and the x axis is: G = Fax'( % )= 337 g

a) 21.8% b) 30.9° ¢) 56.3° (d) 33.7° .
2 &

Py
32. The angle between vector. and vector. is: CY - Cos A

[@\337 b) 1370 9 130° @373 .7 - 5

A R
= =
(3 . o
! = \Ss .
= ,\*l)x i q: Cos = = 337
cC=35¢c V¥
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33. In which figure of the following C is the vector sum?

Sample A Page 6



King Abdulaziz University
Faculty of Sciences
Physics Department

Second Term
1432-1433 H

Date: 13/ 4 / 1433H
First Exam - Phys 110 e

Name: ID No: Section:

CHOOSE THE CORRECT ANSWER
1. Convert 5.86 x 106 cm to km
a) 5.86 km b) 586 km ¢) 0.586 km d) 58.6 km
2. How many seconds are in 36 days

a) 31.104x10°s c¢) 31.104x10%s
b) 31.104 x 106 s d) 31.104x10%s

3. If d:axiA+ayf+azkA , the quantities (a, ,a, ,a. ) are called:

a) vector sum ¢) vector components
b) scalar components d) unit vectors

4. Electric power of magnitude 2.17 x 10° watts equals:

a) 2.17 kilowatts ¢) 2.17nanowatts
b) 2.17 megawatts d) 2.17 gigawatts

5. The conversion factor used to convert a volume of 64 cm?3to Sl units is

2 6 3 3
10°cm b) 10°cm 0 1m 1m

Im Im? 10%cm 10%cm*

a)

6. A car moved a distance of 215 km ,in a direction making an angle of 22° east of
north . How far east and north has the car moved?

a) 199 km east, and 81km north ¢) 81 km east, and 199 km north
b) 91 km east, and 188 km north d) 188 km east, and 91 km north
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Use the following to answer questions 7-8:

Two vectors, C,and D , have magnitudes ‘5 ‘ =16m ,and ‘E ‘ =78m

7. If the vectors are anti-parallel ( *=¥' < SSi=ies Gilsa) - Their vector sum
has a magnitude =

a)0 b)62m ¢)80m d) 949m
8. If the vectors are perpendicular, their vector sum has a magnitude =

a)62m b)94m ¢ 0 d) 80m
9. If A=3-3j ,B=i-2j,and C =5i —12] then A —-2B +C =
a) 6i =11 b) 8 —17] ¢ i+; d) 9% +17]

10. In the diagram, the magnitude of ‘ff ‘ =12m , the magnitude of ‘E ‘ =10m and the

magnitude of ‘6 ‘ =6m . The x component of A +B +C =

a)23m b)llm ¢) 17m d) 28m
11. The density of silver is 10.49 g/cm? , its density in kg/m3 equals:

a) 10.49 x 103 kg/m3 c¢) 10.49 x 106 kg/m3
b) 10.49 x 103 kg/m3 d) 10.49 x 108 kg/m3

12. If a =4iA—3f and b= 6iA—8jA ,then the magnitude of b —d =

a) 12.5 b) 14.87 ¢) 189 d) 54

Sample A Page 2



13.

14.

15.

16.

17.

18.

19.

20.

Here are three vectors in meters d: :3iA—3f , d; :iA—f ,and ci3 = ZiA—4f .

What is the result of d, -(dﬁ2 +cﬁ)

a)34m b)24dm ¢)14m d)4m

If \A \ = 44 units,

E‘ = 16 units, and the angle ¢=30°, then the vector product

=AXB is

a,

a) |C|=352 units, perpendicularto A and B

b) |C|=532 units, perpendicularto A and B

¢) |C|=352units, parallelto A and B

d) |C|=532units, parallelto A and B
IfG=2+2j and b =i +3k ,then axb =
a) 6i —6j -2k b) 2i—j—6k ¢ 2i-6j-2k d) 6i-2j—6k

If C =35i +21/ —14k , then §=

a) 6/ +6/—10k b) S5 +3/-2k ¢ 10i +3j -4k d) 10i +6j —4k
For the following two vectors: A =2{ +3j , B =-3 +2j.Find A 2B
a)6 b) 12 c¢) zero d) 5

A particle enters a region with a speed of 4 x 106 m/s and then slowed at
the rate of -1.5x 10> m/s? . The distance the particle takes to stop is

a) 0.15m b)2m ¢) 0.2m d) 5.33m

An apple fell from a 19.6 m tree, how long did it take to reach the ground
level?

a) 49s b)4s ¢) 98s d) 2s

An object is thrown straight up from ground level and reached its highest
point after 3.4 s . Its initial velocity is:

a) 35.3m/s b) 30.32 m/s ¢) 33.32m/s d) 43.31m/s
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21. A change from an initial position to a final position is called:
a) speed b) displacement c¢) acceleration d) velocity

22. A car can go from zero to 32 m/s in 16 s. The average acceleration of the
car is:

a) 2m/s2 b) 3m/s?2 ¢) 4m/s?2 d) 7 m/s?
23. The speed of a particle moving with instantaneous velocity of - 15 m/s is:
a) 15m/s b) 10m/s ¢) 5m/s d) 12m/s
Use the following to answer questions 24-25:
A particle moves fromyi=-5mtoy2=-2m
24. The magnitude of the displacement is:
a)-3m b)3m ¢ -7m d) 7m
25. The direction of the displacement is:

a) up b) down c¢) right d) left

26. A particle's position on x-axis is: x (¢) :%—i+9 with x in meters and tin
t° ot

seconds. Its position att=3 s is

a) 10.34m b) 7.89m ¢) 6.87m d) 9.37m

27. A man drives a truck from a gasoline station a long a straight road for 11.2
km in 0.23 h, then he returns back to the station in 45 min , his average
speed and average velocity , respectively, are :

a) Sag =0, Vag = 22.86 km/h ¢) Sayg =0, Vayg =127 km/h
b) Savg=22.86 km/h , vavyg =0 d) sayg=12.7 km/h, vayg=0

28. A particle's position on x-axis is: x (t) =13—24¢ +2¢° with x in meters and tin
seconds. Its acceleration att =5 s is:

a) 60m/s?2 b) 12m/s?2 ¢) 36 m/s?2 d) 52 m/s?
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29. In the following sentences, which one is wrong?
" the free fall acceleration ....... "

a) is the same for all objects.

b) has a magnitude of 9.8 m/ss.

¢) is the same during ascent and descent.
d) is equal to zero at the highest point.

30. From the figure, the angle that vector a makes with the +x axis
( counterclockwise) is:

Y

30

a) 30° b) 210° ¢) 1500 d) 1200
Use the following to answer questions 31-32:
Two vectors: A =3i +2j and C =5/
31. The angle between vector A and the x axis is:
a) 21.80 b) 30.9° ¢) 56.3° d) 33.7°
32. The angle between vector A and vector C is:

a) 33.79 b) 137° ¢) 1300 d) 37.39
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33. In which figure of the following C is the vector sum?
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< King Abdulaziz University fh Second Term
Faculty of Sciences 1433-1434 H
Physics Department

Date:7/5/1434 H
First Exam - PHYS 110

Name: ™ 4 ; ID No: Section:

CHOOSE THE CORRECT ANSWER:

-2
1. Thetime rate of positionis N = -x—'é'i-:‘b"
A) acceleration B) distance C) speed @ velocity

2o}

. The Si units of'base quantities ( Length , Mass , Time ) are
* A) Km,Kg,s B) cm,g,s C) cm,Kg,s @ m,Kg,s

%

it N,
. (0.000 000 0782 ) is egual to: :
A) 7.82x107 @ 782x10%  C) 7.82x10°° D) 7.82x107

¥

(¥}

Use the following to answer questions 4-6:
If-G =47 —3j and b =67 +8;

= | ‘ ~ n 2’\ )\r‘
% b—-a isequal(G"H)L.’\(g-(‘3))‘)= L \)
A i3 B) 2f-5) O 4-3] @) o +1yf

v. 5 s S e =
The direction of £

A) 58° 53° ) 43° D) 60°
S + 1 .
6. The megnitude of & }0\_\ - q)“"“ﬂ =\ l) -\’(‘3) =i

@)s B s 7 D4

]
R , = | 5 oz .
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Use the following to answer questions 7-8:

The position of a body moving along the x axis is given by: x =3 t- 42 + £,

The average velocity for the time interval from t=0 to t=5 s is:
A) Vap =48 m/fs  B) vag=20m/s

Vag =8 M/s D) V=40 m/s
n=°-'>’(\“°)£:1,=5'5->£,‘:.‘1¢/\é ._._&z-l(t __._‘:o—c..._g..‘/.s
The position of a body at t=4s is:

Tty Beo
A) x=3m B) x=-3m

2
x =12m D) x=-12m bays—p £ =304~ (h)l‘dl-\'(‘i)

=17 m
Use the following to answer questions 9-10:

Two vectors ¢ and b of magnitudes 10 units and 6 units respectively and the angle
. . . - . 0 — ¢ ® O
between the directionsof ¢ and b is60". ea = lotbiw 1'_;/ b = (U\ﬂl‘i‘.s /@.._._6°
el
PR - " g
9. The scalar product of the two vectors 4 and b is: O~ ¢ ‘9 = C\\D Cos CF = lo*g" Cos 6
A) 50units  B) 20 units @ 30units D} 60 units =3 tnits
Zxb
- 10. The magnitude of the vector preduct of
@ 52 units  -B) 40 units

g and b is-aib'ﬁq)"5"w@—=\cx5xs:~.6}
C) 26units D) 20units = 51.9¢ g, O
1. {2 nm )

A) 107 m?

}V\W\.: \c.;qu_
L
B) 10%m? C) 107wt @ 1078 m? k\"\“\) = (]O-.q)

T =g
12

M=o 2

v
oV
The displacement of a boy moving with average velocity of 1.
A) 200m B) 100m 144 m

t

N N DX
D)‘ et ?m/s in_t:i_._rmg_utes 1s “‘,a._b-———-t

b4 'bi-t
2 A~ e ..(l.z)('z.)(&).
=y o

The position of a particle is given by: x{t}= 20 t - 5t° (with x in meters and t in 2
seconds). Is there ever a time whepa=0? (= 1, ’--_-"> Q=00 d7x 3ot
A) att=30s B) att=10s att=0 D) att=15s dé?* -3e &
14. 5

A
A °/ &:O

13.

1y

[1 ]

Aboat =) moves (10 km west), then (5 km north), and finally (10 km east).
The displacement of the boat from its initial position is
A} Okm

B) 5 km, South C) 5km,North D) 10km, East

st \
\c:km ﬁl‘ﬂal
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Ve Ao N SER¢ N} zo\(w
1:’> A car's speed is 30 m/s , after travels 50 m it reaches 15 m/s with constant
Sm—— —— q =5 e 6 > ; [N
acceleration ,a.car s acceleration is ov=11. 5:\ /5

@) -675m/s"  B) ~1125m/s° ) €75m/s’ D) 11.25m/s’

16. The position of an object moving on an x axis is given by x = 4 - 46t - 4t* (with x in
meters and t in seconds), therefore, at t=0s: V- —-‘1 6-\24%
A) The speed is zero. : # Veaaub- (n)(o) s -—‘16 “‘/5
B) Thespeed is in the positive direction of x with 50 m/s.
The speed is in the negative direction of x with 46 m/s.
D) The speed is in the positive direction of x with 46 m/s.

' 5 |
17. Avettor 25 hasxy and z -components as 2,4 and 10 respectively. The vector 23=2 C " “\) ¥ k
B can be written as 3 —L-\-?()..\")-k
A) 27‘A+2j"+1()l? B) 2j+5k @ i+2j+5% D) 2i+4j +10k

-é — L -H
18. 467 micrometer = H‘?X‘C; W\,_> LI 611]6
A) 267x10%m @ 467x10°m C) 467x10°m D) 467x10°m

19. Which of the following situations is NOT possible?
: A) A body having positive velocity and negative acceleration.
B) A body having changing velocity and constant acceleration.
A @ A body having consarit velocity and changing acceleration.
) A body having positive velocity and positive acceleration,

20. As shown in the figure, if the magnitudesof @ and b are 10 units and 25 units

respectively, the x-component of the resultant of a4 and b ois:

a\—;\o t\hl‘*'s = -
b:zg“hl“'j - S
b &Ky A DX A"
X =R - s 4
- a Coslo g )«\—\oCoJ()g") z o MANTS 2
A) ry=-2.5 units r,=-20units C) re=-225units D) r,=-30 units

b—j ==1F0s , v bz, Nz 212

2 : Lol o (b

ok Raindrops (B2 2201 1700 m from a cloud to the ground, the drops's velocity
as they reached the ground is:
A) v=58m/s B) v=-129m/s @ v=-183m/s D) v=0

VN8 L 9" )
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Lo
22, Mf 1 inch = 2.54 cm, the conversion factor to convert 2 inch to cm is  emmm———

@ 2.54 cm Bf 1 mch c 2.54 cm D e A inel

1 inch 2.54 cm ' 2 inch 2.54 cm

3"3‘ /\Q-O/ t‘.t?
23. How long does it take an apple falling from a 29.4m high tree to hit the ground 2 é‘ 2
2.455 B) 156s C) 3.72s ~ D) 2085 9=9e=\t-% I

=Z9q= ¢ -:-—Lq's)t

24. The x-component of ¢ isa,=2.6m, if the angle between g and the positive
o . . — s
x-axis is -41° , then the magnitude of & is equal °> =a Cos®-
A) 458m B) 2m @ 345m D) 3m 2.8
) ) ) o = LK g ot 34 glq_

Los®  Cos-4*)

25. The vector sum S of the vectors in the diagram is equal to:

Az Cas@-0 455

26. A vector has a magnitude of 1 unit and in a direction 10° with the positive x-axl 2ASInG = q L'.;(,
— — a

we can write it in unit vector notation as

098 +0.17; B) 0297+20; C) 053 +042] D) 023 +14; S =098 her '1\)

27 The speedometer =) in a car measures : SP l!.Cl
A) displacement B) velocity C) acceleration @ speed

) ‘ \o ’ —
28. 10%kg/m® = .oveerrrrrrene, '19__51. = ———\551)
A) 10g/em® B).10°g/em® ) 10°g/em® @ 1g/em’ w3 ™2 \&
e : = 3\wm3
=, =19/ cu.
29. 4 and B are two vectors as shown in the ﬂgure which of the followmg is True?

- \30
S ) o - ot ¢ — . e B
A) 4B=1 (B) ixE=0 ) dxB= D) 4.5=0 __’-—-—B A
R BB e e o

A/‘\'B

<

FAY N )
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=

2 V
A) (-0 Q) (-+) D) (+,4)

WV 3 ot
3\}’. A particle had a speed of 15m/s in the positive x direction and 2s later its speed was
< 33m/s in the opposite direction. The average acceleration of the particle is:
VoV ~ =33-I5°

A) 24m/s" B) 20 m/s* ((9-24m/s2 D) 20m/ss O\ =2 -
avsy o 2

=-24wm./§
Two vectors of the same magnitude(1 unit) are added; one is directed east and one

is west. The magnitude of the resultant vector is WC \units cast
—_—d
A) 3 0o 01 D2 T

[53)
[

- If the vectors A =1’A+f and B =—iA+jA,then AxBis
A) +2f+2k 2 C) 2i-2% D) ~+j-F

w
w

x =

.

.1-
—» —="> \ ~ A
AdD= (; \3 : = ('Xo%)()) L- (lxt-»/(—\)J(o)S.‘(\x; -k
s o £

- % Wel) K =2k
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